
1111 

i iii 
1111 

i iii 
1111 

i iii 
1111 
1111 

,. TexasA&M 
~ Transportation 

...--• Institute 

Test Installation
 228'-0" (to Rail ends) 

226'-10" (to Anchor Block centers) 

186'-0"72" Typ 

Plan View Type I End Anchorage (see next sheet) 

Post Numbers 34 27 24 21 18 15 12 9 6 3A 

A 
C 

Elevation View 
B Bolt, 3/4 x 2" hex A325 (x 8)

 28" Washer, 3/4 SAE Hardened (x 8)Washer, 3/8 USS flat Bolt, 3/8 x 7 1/2" hex A307
 1/2" 

Box Beam Rail 

Type A Post

 0" 

Detail CBox Beam Splice Plate (x 2)Ground Line Scale 1 : 10 
Typ 6 places 

Washer, 3/8 USS flat 

Nut, 3/8 hex A563 

Box Beam Support Angle
 1a.  All steel components, includingNut, 1/2 hex A563

Bolt, 1/2" x 1 1/2" hex A307 hardware, shall be galvanized. 
Washer, 1/2 USS Flat  1b.  Threads not shown on bolts for clarity.

36" Washer, 1/2 USS Flat 

Section A-A Detail B Roadside Safety and
Scale 1 : 5 Physical Security Division -Scale 1 : 20 Proving GroundTypical Posts 2 - 33 

Project #610031  Wyoming Box Beam Rail 2019-02-28 

Drawn by GES Scale 1:300 Sheet 1 of 5  Test Installation 

T:
\1

-P
ro

je
ct

Fi
le

s\
61

00
31

-0
1-

W
yo

m
in

g 
D

O
T-

Bl
ig

h\
D

ra
fti

ng
, 6

10
03

1\
61

00
31

 D
ra

w
in

g 



   

f 
l 

. 0 0 0 0 

I ◄ ► I 

. . 

~ 

~ TexasA&M 
~ Transportation 

Institute 

~ 

• • 
7 
_j 

1 
_j 

 24" 

28" 24" 

15'-0" 

D 

E 

Elevation View 

Ground Line 

See Detail C, previous sheet 

Type I End Anchor Rail 

Type C Post 

Type A PostType A Post

 30" 

30" 

72" 

Plan View 

Wyoming DoT Class B Concrete (3250 psi) 

Detail D 
Scale 1 : 10 

See Detail B, previous sheet, 
for connection details

 8" 4" 

Detail E 
Scale 1 : 10 

Anchor Bolt (x 2) 

Washer, 3/4 SAE Hardened (x 2) 

Nut, 3/4 heavy hex (x 2) 

Type 1 End Anchorage 
Typical each end 

2a.  All steel components, including hardware, shall be galvanized. 

2019-02-28 

Drawn by GES Sheet 2 of 5 Type 1 End Anchorage 

T:
\1

-P
ro

je
ct

Fi
le

s\
61

00
31

-0
1-

W
yo

m
in

g 
D

O
T-

Bl
ig

h\
D

ra
fti

ng
, 6

10
03

1\
61

00
31

 D
ra

w
in

g

Scale 1:40 

Project #610031 Wyoming Box Beam Rail 

Roadside Safety and
Physical Security Division -

Proving Ground 



  

 
 

 

 

   
   
   

+ 

</J 

</J 

,. TexasA&M 
~ Transportation 

Institute 

------

 3
5'

-1
1-

1/
2"

35
'-7

-1
/4

"

35
'-1

-1
/4

"

32
'-1

1-
3/

4"

26
'-1

1-
3/

4"

20
'-1

1-
3/

4"

14
'-1

1-
3/

4"

8'
-1

1-
3/

4"

35
-3

/4
"

10
-1

/4
"

4-
1/

4"

0"
 

Rail Details 

24" 

Box Beam Rail 
Elevation View 

1" (x 4) 1/2" (x 6) Box Beam Rail 
Plan View 

HSS 6" x 6" x 3/16" 
ASTM A500 Grade BAll holes through all 

(top and bottom faces). 
Symmetric about CLAll holes through all 

(top and bottom faces).

 0
" 4-
1/

4"

10
-1

/4
"

71
-3

/4
" 

0"3"9"
 

15
'-3

/8
"

18
'-1

-3
/8

"

35
-3

/4
" 

F 

1/2" (x 2) 
1" (x 2) 

Type I End Anchor Rail 
Plan View 

HSS 6" x 6" x 3/16 
ASTM A500 Grade B 

Slots, 7/8" x 2" (x 2) 
All holes and slots through 
all (top and bottom faces). 

Symmetric about CL

 86.8° 

Detail F 
Scale 1 : 10 

see 3c 3/16 
3 sides 

T:
\1

-P
ro

je
ct

Fi
le

s\
61

00
31

-0
1-

W
yo

m
in

g 
D

O
T-

Bl
ig

h\
D

ra
fti

ng
, 6

10
03

1\
61

00
31

 D
ra

w
in

g

Type I End Anchor Rail 
Elevation View Roadside Safety and

Physical Security Division -
3a.  All welding must be performed by certified welders using industry standard practices. Proving Ground 
3b.  Galvanize all components after fabrication is complete. Project #610031 Wyoming Box Beam Rail 2019-02-28 
3c.  Cut 3 sides (inverted V-shape, 5/8" wide at bottom), bend, and weld. Drawn by GES Scale 1:50 Sheet 3 of 5 Rail Details 



   
   

II 
II 

0 II 
II 

0 II 

II 
II 
II 

II II 
II II 
II II 

II II 
II II 
II II 

II II 
II II 
II II 

II II 
II II 
II II 

II II 
II II 
II II 

II II 
II II 
II II 

II II 
II II 
II II 

II II 
II II 
II II 

II II 
II II 
II II 

~ TexasA&M 
~ Transportation 

Institute 

 1-3/8" 

5/8" (x 2, 
front flange only)

 0" 

8" 

36" 

64" 

S3x5.7 
ASTM A992 

Type A Post 
Elevation Views 

Symmetric about CL 

Isometric View 
Typical both Posts 

Plate, 8" x 1/4" x 24" 
ASTM A36 

1/8 2 - 11 

1/8 2 - 11 

1/8 
Typ 4 places

 1-3/8" 

0" 

32" 

60" 

8" 

S3x5.7 
ASTM A992 

Type C Post 
Elevation Views 

Slot, 5/8" x 2" (x 2) 
(front flange only) 

Symmetric about CL 

Post Details 

4a.  All welding must be performed by certified welders using industry standard practices. 
4b.  Galvanize all components after fabrication is complete. 2019-02-28 

Drawn by GES Sheet 4 of 5 Post Details 

T:
\1

-P
ro

je
ct

Fi
le

s\
61

00
31

-0
1-

W
yo

m
in

g 
D

O
T-

Bl
ig

h\
D

ra
fti

ng
, 6

10
03

1\
61

00
31

 D
ra

w
in

g

Scale 1:10 

Project #610031 Wyoming Box Beam Rail 

Roadside Safety and
Physical Security Division -

Proving Ground 



 

 

   

   

Q + O 

) 
m m m 

lt-1--¼­
~ 

G 

GBox Beam Splice Plate 
Elevation View 

7/8" (x 8) 

0"3"6"9"12
"

15
"

18
"

21
"

24
"

27
" 

Box Beam Splice Plate 
Plan View 

Plate, 5 3/8" x 5/8" x 27" 
ASTM A36 

Nut, 3/4 heavy hex A194-2HM (x 4) 

Symmetric about CL 

Symmetric about CL

 5/8" 

3" 

B1 Box Beam Support Angle 

Symmetric about CL  3" 

2" 

L 5 x 3-1/2 x 3/8 
ASTM A36

 3/8" 

3/8"Section G-G 

Symmetric about CL 

Tack

 3" (3/4-10 threads) 

24" 

3" 

3/4" 

Anchor Bolt 
Scale 1:10 

A572 Grade 50 Rod

 4-1/2" 

1/2" 

3" 

Symmetric about CL 

5a.  All welding must be performed by certified welders 
using industry standard practices. 
5b.  Galvanize all components after fabrication is complete. 

Miscellaneous Parts 

2019-02-28 

Drawn by GES Sheet 5 of 5 Miscellaneous Parts 

T:
\1

-P
ro

je
ct

Fi
le

s\
61

00
31

-0
1-

W
yo

m
in

g 
D

O
T-

Bl
ig

h\
D

ra
fti

ng
, 6

10
03

1\
61

00
31

 D
ra

w
in

g

Scale 1:5 

Project #610031 Wyoming Box Beam Rail 

Roadside Safety and
Physical Security Division -

Proving Ground 




